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JaEZ 57,366 0 57,366
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B2 A 52,366 0 52,366
52,366 0 52,366|01 LEI2Y
oQlblAsY = 44,040
o233 ¥ HMAl = 2,701
o= &l = 5,625
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o gl 5,000 0 5,000
5,000 0 5,000/01 =LHOI LI
odlzel YR = 5,000
200
AFS Ol & 5,813,925 1,581,390 4,232,535
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KEHI A 5,813,925 1,581,390 4,232,535
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NXSHHS 5,813,925 1,581,390 4,232,535
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oAl - 22 123,965
og - o 320,242
5,369,718 1,581,300  3,788,328/08 JIEIS
o M4zl H T IESE ) 5,369,718
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EIEE 7,270,948 5,611,562 1,659,386
1121
olslz e 3,804,410 3,578,924 315,486
100
2 800 4 3,889,906 3,450,557 430,349
10
o121 bl 3,292,383 2,860,940 431,443
3,202,383 2,860,940 431,443
1,095,307 1,660,134 335,173/01 JI22
o= H 564,144
2 5,652,0002 x 1% 67,624
3 5,170,0002 x 82 X 496,320
oux 742,433
.52 205 2,023,000 x 72 X 169,932
62 173 1,641,302 x 158 x 295,434
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72 133 1,336,300& x 159% x 128 = 240,534
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A8 215 1,882,500& x 1&H x 128 = 22,590
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102 102 881,500& x 798 x 12&8 = 74,046
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cItExE 45,828
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ssn 369,700& x 6798 x 0.23 x 48 = 22,789
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- 15-10= 0] &t 60,000& x 14% x 128 = 10,080
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©1-32 200,008 x 12 x 122 2,400
©4-53 140,008 x 158 x 122 25,200
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- Zgag 26,280¢ x 5% x 522 = 6,833
P 26,2808 x 5% x 202 = 2,628
ESIERERS = 3,272




(1100)UHLEHBH  8:(1120) X223 Mg (1121) 23l B2 22l RIMIE : (110)21218] EEN LR
==}
= oo ow &8 = il N = » =
NN = of & A = oA
=] 80,0008 x 5% x 128 = 4,800
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otFZ ALY 26,2809 x 5% x 122 = 1,577
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2aHY 597,523 598,617 A1,094
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Z:(1000) YAl B (1100)UEREANBH  BH:(1120) X203 Mg (1121) 25| 5222 HIAIEE: (120) 3 &= 2 b =3[ 8]
o = S R im)
of & o A 2 ol =
.2 HIE A = Of & M = oA 2
COHEEYRET = 20,000
17,400 15,600 1,800|04 RA2IY2FAY]
CcEREYRA(21) 350,0002 x 128 = 4,200
SOl AE e 2 Al (18) 350,0009 x 128 = 4,200
SHRXB L RA(6) 250,0008 x 128 = 3,000
c2g925l(4) 100,009 x 128 = 1,200
S H X X223 (6) 100,0008 x 128 = 1,200
cWFAEIPI 23 (4) 100,0008 x 128 = 1,200
osHABHSIEI(5) 100,0008 x 128 = 1,200
oA AYLAF(5) 100,0008 x 128 = 1,200
204
AL 227,520 211,980 15,540
bl
40,800 40,800 001 AMZ A2 FXY|
ST 600,000% x 1% x 128 = 7,200
ogga 350,0002 x 3% x 128 = 12,600
o2 350,0008 x 5% x 128 = 21,000
150,720 138,780 11,940/02 NS 2 X H|
SR 123,420
23 650,0008 x 1% x 128 = 7,800




L2 & (1120) X &2l 3] Mg :(1121)2 3| E2 22| NIAIEE: (120) B & X I (=3[ dE]

84 @ & ] imi
Of &b R A = Il =
.2 g A MAE Ol &b M s A &
= 400,000 x 8% x 128 = 38,400
=] 250,000& x 78 x 128 = 21,000
6= 155,000& x 16¥ x 128 = 29,760
e 140,000& x 15% x 128 = 25,200
- 8= 105,000& x 1& x 128 = 1,260
SPIES 27,300
I= 140,000& x 2& x 128 = 3,360
8-9= 105,000& x 19¥ x 128 = 23,940
36,000 32,400 3,600/03 SR+ =H|
ofela=t] 50,000& x 60 x 128 = 36,000
2etE A g 22,700 24,200 A 1,500
12,700 14,200 A1,500(07 S12+01=2| 04|
coiuF g5 3,175,000& x 28] x 298 = 12,700
10,000 10,000 0|08 2ABI=H0H
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ZH:(1000) LB A Hl 26 (1100) B LA 2 & (1120) X123 Mg :(1121)2 3| E2 22| NIAIEE: (220) REHI A (=3[ dE]

2 = S IS R == S )
ol & o b 2 Il =
T2 Mg AIAIE =2 of & = oA
220
XE& A ed 4,504 119,367 ~ 114,863
405
NISESE:] 4,504 58.367 ~53,863
4,504 58,367 ~53,863|01 K&t SEF S
SEEES 300,0002 x 2CH = 600
o AR EQXt 147,009 x 2CH = 294
oHTRED) 250,0008 x 1CH = 250
o=3lo% golg T 2,040
=Py 540,0008 x 2X = 1,080
- B A 480,000 x 2x = 960
o3/o|g 0tol3 330,000 x 4CH = 1,320
1122
A2 124,580 131,819 A7,239
100
ZA0f & 124,580 131,819 A7,239
120
ERAREEET] 124,580 131,819 A7,239
201
U2 Y| 89,630 98,569 ~8,939
89,630 98,569 ~8,939|01 LEr2AH
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Z:(1000) LB A H] 2 (1100) L A O 2| &h:(1120) Xl1gtol 3 HIgt: (1122) QA2 Y HIAIE : (120) 3 & & ZH| 2] [ AH]
ok = 7S I R == ] m}
of &b oH A 2 ol =
Xt BB MIE HIMIE = of & ¥ = A 2
ot Ay = 17,880
o g | 9,900
o AlE &H| S XIH 9,550
ol S| = 1,600
o392 Yot = 50,700
202
o4 4] 25,200 27,500 A2,300
25,200 27,500 A2,300(01 Z2LHAHHI
COAE 29 = 25,200
203
AR =& 5,000 5,000 0
5,000 5,000 0|03 AIF=AAH2FXIH|
coAI2Y YR =AY = 5,000
305
a2 S 750 750 OcHEBAIRZAI SIE4A (U] 50,0008 x 159 = 750
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= P I = H ml
of &b o AF = 9l =
2 of &b o s A 2
82,100 91,241 A9, 141
82,100 91,241 A9, 141
82,100 91,241 A9, 141
201
B2 Y| 59,700 66,841 AT, 141
59,700 66,841 AT7,141/01 LBt
o B2y = 56,100
oZ | = 3,600
202
o4 | 8,400 9,400 A1,000
8,400 9,400 A1,000/01 2104
oz &3 = 8,400
203
AR EZAI| 5,000 5,000 0
5,000 5,000 0103 AIHZEXIQ2=ZAIY
oy HREXH = 5,000
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(1100) U H L & 20 & (1120) X &2l 3] Mg (1123) BRI Xt 2 22| NIAIEE: (120) B & X I (=3[ dE]

= 7S I R == ] m}
of &b oH A 2 ol =
CHIEE . MIAIE = of & ¥ = A 2
405
INFAE= =Tl 9,000 10,000 A 1,000
9,000 10,000 A1,000102 S HFRH|
oo™ HINEA 25,000& x 360 = 9,000
102,860 91,680 11,180
102,860 91,680 11,180
102,860 91,680 11,180
201
QB2 AH| 34,660 28,680 5,980
34,660 28,680 5,980(01 Ler29y|
o AUBIRAH| = 15,760
o2yt = 4,500
o g &H| = 14,400
202
o1l 43,200 38,000 5,200
43,200 38,000 5,200(01 =2LHAHI
oM AN 2 = 43,200
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(1100) U H L & 20 & (1120) X &2l 3] Mg (H24) =22 NIAIE: (120) B & = I (=3[ dE]

= rSI= R e im)
off &b o A 2 ol =
EN P = of & = A Y
203
QR FTH| 25,000 25,000 0
25,000 25,000 0|03 Al =X FA|
coFRHALET| = 25,000
3,066,998 1,717,898 1,349, 100
3,066,998 1,717,898 1,349, 100
3,066,998 1,717,898 1,349, 100
205
9| 51 3,066,998 1,717,898 1,349, 100
666,000 648,000 18,000/01 /X & =H|
cFNZHAY A7
1,200,0002! x 37% x 12 = 532,800
o2 XS] 300,0008 x 37% x 128 = 133,200
1,665,000 345,600 1,319,400(02 E&H+g
S-PIEE= = 1,665,000
218,998 218,998 0|03 2U0itl
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% :(1000)2 AW #:(1120) Kl Mg (1125) 2 5 e s M8 (120) 2 &= b el &
| = m
of & o V! N = ol
.2 8 NE MAE o M= oA
coNEs 218,998
70,500 66.900 3,600(04 =2I0iH
oBRY 24 70,500
o & et 2,500,0002 x 3% 7,500
o 1,800,0008 x 354 63,000
261,700 255,600 6.100/05 SIH IS LR
Hgs P2F% 6,100,0008 x 379 225,700
29 & 2,000,0008! x 18% 36,000
172,800 172,800 0|06 Jl22Ye
col% 4,000,0002x1%x128 = 48,000
SRS 2,000,0008 x 2% x 128 = 48,000
oAU 1,200,0008 x 5% x 128 = 72,000
CHAHASEIAT 1,200,0008 x 1% x 43 = 4,800
12,000 10,000 2,000(07 I IAMRES
COFLEOINRLS = 12,000
H & & 3 13,146,542 7,192,952 5,953,590
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